SM3 Unit 8 Review Name:

1) Determine how many possible triangles can be formed using the given measurements.
msA =71°%c=28,a=11
(SSA)
0 Triangles

2) Determine how many possible triangles can be formed using the given measurements.
msC = 27°%c=22,b=31
(SSA)
2 Triangles

3) Determine how many possible triangles can be formed using the given measurements.
msA = 145°,c¢c = 25,a = 10
(SSA)
0 Triangles

4) InAABC, ms4B = 39°b = 4,a = 6.Solve AABC.

(SSA)
Law of Sines

C=70.731°

A=70.269° c=6 B=39°

C=109.269°

A=31.731° c=6 B=39°



5) InAABC,m«B = 95.5°,a = 11.1,c = 11.6. Solve AABC.

(SAS)
Law of Cosines

C=43.396°

A=41.104° c=11.6 B=95.5°

6) InAABC,a=10,b =11,c = 17. Solve AABC.

(SSS)
Law of Cosines

C=108.004°

A=34.016° c=17 B=37.979°

7) InAABC,mzA = 10°,msB = 140°,m«C = 30°. Solve AABC.

(AAA) Not Possible/ Infinite Number of Solutions



8)

9)

10)

In AABC, ms£A = 61°,msB = 26° ¢ = 6. Solve AABC.

(ASA) law of Sines

A=61° c=6 B=26°

Alliya is taking a walk along a straight road. She decides to leave the road, so she walks on a path
that makes an angle of 35° with the road. After walking for 450 meters, she turns 75° and starts
heading back towards the road.

a. How far does Alliya have to walk get back to the road?.

Law of Sines

C=105°

A=35° c=676.221 B=40°

401.5 ft -

b. When Alliya returns to the road, how far is she from where she started?

676.2 ft

In order to demonstrate that math teachers can also be athletic, Mr. Wytiaz agrees to compete
in a triathlon. Not being in the best physical condition, he plans to substitute professional
athletes in his place on the race. He constructs masks and suits in order to disguise his
impersonators.

Mr. Wytiaz gets Michael Phelps to swim for him in exchange for performing the math research
necessary to develop a surgical procedure to make the webbing of his hands, webbing of his feet,
and gills less visible. Lance Armstrong agrees to cycle in exchange for a formula that will mask
the presence of certain pharmaceuticals. Lastly, OHS track Coach Jacobs offers to run if it means
students being excused for track meets without hassle for the rest of his life.



From the starting point, racers will swim 5 miles, turn 130°, and bike for 30 miles. As the starting
point will also be the ending point of the race, the contestants will then run directly back to the
starting point.

How long, to the nearest tenth of a mile, will Coach Jacobs run?

Law of Cosine

27.06 miles



